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IM1Aug. 2016 Cisco Official News! ! CCDP 300-320 ARCH: Designing Cisco Network Service Architectures Exam Questions
Updated Today! Instant Free Download 300-320 ARCH PDF & 300-320 ARCH VCE Dumps from Braindump2go.com! 100% Pass
Guaranteed! 100% Real Exam Questions! NEW QUESTION 41 - NEW QUESTION 50: 1.]2016/08 L atest 300-320 ARCH PDF &
300-320 ARCH VCE 237Q&As: http://www.braindump2go.com/300-320.html 2.|2016/08 Latest 300-320 ARCH SISAS Exam
Questions PDF: https://drive.google.com/folderview?d=0B272WrTALRHcQzdrcml 1bEtwQWs& usp=sharing QUESTION 41
EIGRP uses which algorithm to build arouting table? A.  Dijkstras algorithmB. Floyd-Warshall algorithmC. Diffusing Update
AlgorithmD. Johnson's algorithm Answer: C QUESTION 42A network engineer has implemented alooped triangle switch block
design. What element must be included in the design? A.  first hop redundancy protocolB. Layer 2 links between access switches
C. single uplinks between access and distribution switchesD. VLANs that span access switchesE. Layer 3 links between
distribution switches Answer: A QUESTION 43Refer to the exhibit. Which two features can enable high availability for first-hop
Layer 3 redundancy? (Choose two.)

First Hop
routers

A. VPCB. IGMPV2C. VRRPD. PIME. HSRP Answer: CE QUESTION 44To which network layer should Cisco Express
Forwarding be tuned to support |oad balancing and to make more informed forwarding decisions? A. Layer 1B. Layer 2C.
Layer 3D. Layer4E. Layer5F. Layer 6G. Layer 7 Answer: D QUESTION 45A Layer 2 switch in the network has recently
started broadcasting traffic out of every port and isimpacting network performance. The engineering department determines that a
MAC overflow attack is the cause. Which two features can protect and mitigate the damage of the attacks? (Choose two.) A.
Storm ControlB.  Port SecurityC. SPAND. BPDU FiltersE. |P Source GuardF. VACLsAnswer: AB QUESTION 46Refer

to the exhibit. Based on the configuration, why are routers R1 and R2 not exchanging OSPF routes? i2icenfish router ospf 2
Rifconfigt network 10.10.10.0 0.0.0.255 area 1

Rllconfight network 20.20.20.0 0.0.0.255 area 2

_ R!llmn*_';»l reutsr-id 15.15.15.15
_J_Mm“t,;mmm_‘wr i _J_n - a4
R2{configt network 10.10.10.00.0.0.255 area 1
R2[configt network 20.20.20.00.0.0.255 area 2

R2{configt routar-id 16.16.16.16

A. The OSPF process numbers are different.B.  Thereis no backbone area configured.C. Therouter IDs are different.D.
OSPF is not enabled on the interfaces. Answer: B QUESTION 47An engineer notices that many BGP peers utilize the same
configuration parameters. What can the engineer configure to simplify BGP neighbor statements and generate more efficient BGP
peer updates? A. peer groupsB. policy templatesC. session templatesD. peer address families Answer: A QUESTION 48
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What is the correct state between two BGP peersthat are neighbors? A.  activeB. operationalC. establishedD. up Answer: C
QUESTION 49Refer to the exhibit. A network engineer manually reconfigures the BGP configuration on newly upgraded router R1.
However, the BGP neighbor relationship does not come up with the directly connected neighbor router. What is causing the failure
of the BGP neighbor relationship between routers R1 and R2? .. ...... .=
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A. Anincorrect neighbor IP address for router R2 is configured on router R1.B.  Anincorrect neighbor AS number is configured
on router R1 for router R2.C. The wrong BGP authentication password is configured on router R1.D. Router R1 must configure
the R2 loopback address as the neighbor |P address. Answer: C QUESTION 50Which option is a primary requirement for the
deployment of an |Pv6-enabled network via the native method (dual-stack model) within the enterprise campus environment? A.
hardware-based switching support for IPv6 forwarding on all campus switchesB. restriction of |Pv6-enabled devices to the core
layerC. manual implementation of tunneling between |Pv6-incompatible devices in an |Pv4-over-IPv6 tunnelD.  disabling of
multicast in the distribution layer prior to implementation of IPv6 Answer: A 'RECOMMEND!!!  Braindump2go 2016/08 New
Cisco 300-320 ARCH Exam V CE and PDF 332Q& As Dumps Download:http://mwww.braindump2go.com/300-320.html [100%
300-320 Exam Pass Promised! 2016/08 Cisco 300-320 ARCH New Questions and Answers PDF:
https://drive.google.com/folderview?d=0B272WrTAL RHcQzdreml 1IbEtwQWs& usp=sharing
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